C:# Usare |'ordine delle operzioni Nome:

Risolvi ogni operazione. Risposte

1) (9+40:5)+2+35:7 2) 4(10-2+9-8)+4 X
2.
3.
4.

3 5(3x2)+14-10 4 10(7-4+36:4)+7 i
6.
7.
8.

% (5+35:7)+10:5x10 6) 9(6+6-4)x3 .
10.

7) 8x3(8%7) 8) 5x5(100:10x2)

9 2x3(13-8x10) 10) 9x9(5+18:6)
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Usare |'ordine delle operzioni Nome: Soluzioni
Risolvi ogni operazione. Risposte
1) (9+40:5)+2+35:7 2) 4(10-2+9-8)+4 X 24
(9+8)+2+35:7 4%(8+9-8)+4 '
(17)+2+35:7 4x(17-8)+4 5 40
17+2+5 4x(9)+4
19+5 36+4 3 34
24 40 . 127
3 5(3x2)+14-10 4 10(7-4+36:4)+7 i 20
5x(6)+14-10 10x(7-4+9)+7 '
30+14-10 10x(3+9)+7 6. 216
44-10 10x(12)+7
34 120+7 1344
L2t 8. 500
5 (5+35:7)+10:5%10 6) 9(6+6-4)x3 . 400
(5+5)+10:5%10 9x(12-4)x3 '
(10)+10:5x10 9x(8)x3 10. 648
10+2x10 72%3
10+20 216
30
7) 8x3(8%7) 8) 5x5(100:10x2)
8x3x(56) 5x5x(10%2)
24%x56 5x5x(20)
1344 25%20
500
9 2x3(13-8x10) 10) 9x9(5+18:6)
2x3x%(13-80) 9x9x(5+3)
2x3x%x(-67) 9x9x(8)
6x-67 81x8
-402 648
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Usare I'ordine delle operzioni Nome:
Risolvi ogni operazione. Risposte
216 500 1.344 40
127 24 34 30 1.
1) (9+40:5)+2+35:7 2) 4(10-2+9-8)+4 »
3.
4,
5.
6.
3 5(3x2)+14-10 4 10(7-4+36:4)+7
7.
8.
5 (5+35:7)+10:5%x10 6) 9(6+6-4)x3
) 8x3(8x7) 8) 5x5(100:10x2)
Semplificato 4 1-8 |88[75]63[50|38[25[13[ 0 |
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